Instruction Manual ERi#%iiBRZE

CODEIX. OVERDOSE HREHBEWVLIFWEEELT, HMITHYMNESTTVET, AERKOMREE 2 ICRIEBSE DB
AGPEEEIBFEA Y, CTEMFAVV - ETITHER:EEL,

(QINRES)

DE—2—I Ik x1, QRAR—H— 4x6x3 TZv7 x1, @I, TOYY x1, DY AR TL—R x1, ®RA VT RRE x1, ©®7Y
Sx—x1, DY vbHS5— x1, @HAKFHS5— x2, @BALL BEARING 4x8x3mm x2, 0Button Head Hex Socket Screw M3x10
Black x1, ()Button Head Hex Socket Screw M3x18 Black x1, ()Flat Head Hex Socket Screw M3x8 Black x3, (39Flat Head Hex
Socket Screw M3x12 Black x1, ()Flat Head Hex Socket Screw M3x18 Black x1, ()0O-Ring SS045 (Black) x1, (®0-Ring P-3 x2

1 ERARHEORBICIKELONFLEADT., FHITHELESL, / Please be aware that not accepting returning after container have opened.
%2 £ [ybAZR) LAOERIE, FYMIERGETEREEL, / Please use original parts which are not listed above.

Q“hﬂmﬂmm XYY hTOY Y DBHIT
x 1 Mount Block Assembly
®oD1547

REUAYRY Ty RS 12— M3x10m
Button Head Socket Screw M3x10mm

(|

@op1549
REUAYRY Iy RS Y 21— M3x18m
Button Head Socket Screw M3x18mm

Q..

®oD1028
A—=2Y933VR—I_TY Y 4x8x3m
Low Friction Bearing 4x8x3mm

jm

@oD1551
IIYMAYEYT YR Y1) 21— N3x8m
Flat Head Socket Screw M3x8mm

i I8

®op2123
TYRANYRY b 291 21— W3x12mm
Flat Head Socket Screw M3x12mm

[ |

®oD2524
7Y AYRY 9k 291 21— W3x18mm
Flat Head Socket Screw M3x18mm

E—R—I UMY A FTL—ROMAILT
Motor Mout & Side Brace Assembly

R
T224-0025 M%) E#EHERRE B H 1-31-18 OVE: m

TEL 045-595-0855 1-0D2488-1



Instruction Manual ERi#%iiBRZE

AN=—FY EEZF U F Y DHEAULT
Spur Gear & Pinion Gear Assembly

LyTFavY INVEEP0
Setting Gear Mesh Adjustment

QOEGBIEFTHLTY VT
TA—IVEEZDENHEFTT, B
25y THMEVEE TIXENTT,

; : ; NV AERET DR
Available to change grip feeling by _ rem o
swapping parts 7 and 15 with 16. SO 2 RDFAVERDTRHELTTL,
Especially effective on low grip surface. Make sure to lose these 2 screws previously

when adjusting backlash.

[ SPARE PARTS ]

0oD1028 O—2U5S 3 R—ILRTY2 % 4x8x3mm (2pcs) Low Friction Bearing 4x8x3mm (2pcs)

0D1547 RAAYRY Ay Z91) 12— M3x10mm (10pcs) Button Head Socket Screw M3x10mm (10pcs)

0D1549 REAAYRY Ay X491 12— M3x18mm (10pcs) Button Head Socket Screw M3x18mm (10pcs)

OD1551 TN YRYH YRR 1) 12— M3x8mm (10pcs) Flat Head Socket Screw M3x8mm (10pcs)

0oD2123 ToVbANYRY Ay X 91) 12— M3x12mm (10pcs) Flat Head Socket Screw M3x12mm (10pcs)

0D2524 T5YMANYEYAS YRR 1) 21— M3x18mm (10pcs) Flat Head Socket Screw M3x18mm (10pcs)

P

2254—3%?5 #&:%;JI |RBETEFAREHR 1-31-18 OVe: Duse

TEL 045-595-0855 1-0D2488-1




